
D25134K-BR_TIPO1/ D25134K-
B2_TIPO1MARTELETE ELETROP.SDS PLUS 800W



MARTELETE ELETROP.SDS PLUS 800W D25134K-BR_TIPO1/ D25134K-
B2_TIPO1



Posição Peça Referência Type Qtde

 1  N325879  PARAFUSO M4 X 42mm T20 ACO Tipo 1  1

 2  323489-00  PROTETOR Tipo 1  1

 3  579212-00  ANEL TRAVA Tipo 1  1

 4  N850185  COLAR Tipo 1  1

 COLAR

Mudou para: N850185

 6  578387-00  RETENTOR DA ESFERA Tipo 1  1

 7  871690  MOLA CONICA Tipo 1  1

 9  330065-16  PARAFUSO M4 X 45MM T20ACO Tipo 1  1

 10  577812-00  RETENTOR Tipo 1  1

 11  577813-00  ROLAMENTO DE AGULHAS Tipo 1  1

 16  577139-00  VEDANTE Tipo 1  1

 17  577814-00  ARRUELA Tipo 1  1

 18  N322087  MOLA Tipo 1  1

 19  N417736  ACOPLADOR Tipo 1  1

 20  N417740  ENGRENAGEM 48 DENTES Tipo 1  1

 21  581836-00  ANEL TRAVA Tipo 1  1

 22  577135-00  ANEL O RING 19,5x3,5 Tipo 1  1

 23  577130-00  ABAFADOR Tipo 1  1

 24  N403105  PERCUSSOR Tipo 1  1

 25  580990-00  ANEL O RING 16,4X9,7X4 Tipo 1  1

 26  N401306  BUCHA Tipo 1  1

 27  N361759  ANEL TRAVA Tipo 1  1

 28  N059509  ARRUELA Tipo 1  1

 29  N417747  COLAR DE FIXACAO Tipo 1  1

 32  579699-00  ANEL O RING 16X3 Tipo 1  1

 33  N417751  CILINDRO Tipo 1  1

 34  N325040  ARRUELA EM FORMA DE U Tipo 1  1

 35  N325041  PIVO Tipo 1  1

 CAIXA DE COMPRESSAO

Mudou para: N495867

 36  N495867  CAIXA DE COMPRESSAO Tipo 1  1

 37  N264673  ANEL ORING 22X2mm Tipo 1  1

 38  N418018  CONJ. EIXO E PINHAO Tipo 1  1

 44  1005844-00  ARRUELA Tipo 1  1

 1

 4  N391370 Tipo 1  1

 36  N417753 Tipo 1



 38  N418018  CONJ. EIXO E PINHAO Tipo 1  1

 44  1005844-00  ARRUELA Tipo 1  1

 45  N264672  ANEL ORING 64X4mm Tipo 1  1

 47  N417860  ENGRENAGEM 13 DENTES Tipo 1  1

 48  1005812-00  FELTRO DE VEDACAO Tipo 1  1

 49  324006-14  PARAFUSO Tipo 1  2

 50  324006-15  PARAFUSO Tipo 1  3

 51  N323101  PLACA LATERAL Tipo 1  1

 52  1005795-00  MOLA Tipo 1  1

 53  N476832  PARAFUSO M4X35 T20 Tipo 1  1

 PARAFUSO M4X35 T20

Mudou para: N476832

 55  N091381-00  ANEL ORING 18X2 Tipo 1  1

 61  N489765  CONJUNTO ESTATOR/CAIXA DE CAMPO Tipo 1  1

 65  N554533  ARRUELA 17.5X8X1mm Tipo 1  1

 ARRUELA 17.5X8X1mm

Mudou para: N554533

 66  1005895-00  ROLAMENTO DE ESFERAS607LUT CW CHINA Tipo 1  1

 ROLAMENTO Nova Lag

Mudou para: N110359

 67  N110359  ROLAMENTO 608LHT 8MM X22MM X 7MM Tipo 1  1

 68  N344965  DEFLETOR Tipo 1  1

 69  N012971  CALCO DE BORRACHA Tipo 1  1

 70  N442577  BUCHA CAPA DOROLAMENTO 607LUT CW Tipo 1  1

 71  1005865-00  PROTETOR DO ROLAMENTO Tipo 1  1

 72  1005894-00  TRAVA DO ROLAMENTO Tipo 1  1

 73  N418034  CONJ PORTA ESCOVA EESCOVAS DE CARVAO 127V Tipo 1  1

 77  N418050  PAR DE ESCOVA DECARVAO 127V Tipo 1  1

 78  1008956-00  CONJ. EMPUNHAD. LATERAL Tipo 1  1

 79  798846-02  PROFUNDIMETRO Tipo 1  1

 84  N086775  PARAFUSO M3.12 X 8MM T10ACO Tipo 1  2

 CONJ. EMPUNHADURA D25133

Mudou para: N612750
 85  N612750  CONJ.EMPUNHADURA D25133 Tipo 1  1
 88  N166239  INTERRUPTOR 127V Tipo 1  1
 90  329301-00  PRESILHA DO CABO ELETR.DW300 Tipo 1  1

 PRESILHA DO CABOELETRICO
Mudou para: 329301-00
 CABO ELETRICO
Mudou para: N466184

Tipo 1  1

Tipo 1  1

 85  N418012 Tipo 1  1

 53  N395744 Tipo 1  1

 65  N245239

 91  1005761-00 Tipo 1  1

 90  821070

 67  330003-60 Tipo 1  1



 CABO ELETRICO
Mudou para: N466184

 91  N466184  CABO ELETRICO DWP849XB2/BR "SC" Tipo 1  1
 92  330005-01  PROTETOR DO CABOELETRICO Tipo 1  1
 93  330065-08  PARAFUSO M4 X 18MM T20ACO Tipo 1  5
 94  1005879-00  CONDUTOR AZUL Tipo 1  1
 95  1005879-01  LIDE VERMELHO 155mm D25133K Tipo 1  1
 101  N417861  CONJ. SELETOR Tipo 1  1
 102  N418036  EMBOLO Tipo 1  1

 CONJ. ROTOR 127V
Mudou para: N566903

 103  N566903  CONJ. ROTOR 127V Tipo 1  1
 104  N417853  LUVA Tipo 1  1
 105  N411091  ETIQ. ESPECIF.D25134-BR TIPO1 Tipo 1  1
 114  N418051  CONJ. CILINDRO Tipo 1  1
 118  N417733  CONJ. CAIXA DEENGRENAGEM Tipo 1  1
 119  577795-00  ANEL TRAVA Tipo 1  1
 131  N403110  CONJ. EIXO PORTAFERRAMENTA Tipo 1  1
 134  583890-00  ESFERA 7mm Tipo 1  4
 137  N091710  ANEL TRAVA Tipo 1  1
 140  N403111  CONJ. MANDRIL SDS PLUS Tipo 1  1
 145  N403112  EIXO PORTA FERRAMENTASEXTAVADO Tipo 1  1
 146  N403284  CONJ. EIXO PORTA FER.SEXTAVADO Tipo 1  1
 147  582512-02  MANDRIL 1.5-13mm Tipo 1  1
 148  605256-02  PARAFUSO DO MANDRIL Tipo 1  1
 150  N403113  CONJ. MANDRIL 13mm Tipo 1  1
 800  870889-02  TUBO DE GRAXA 90gRENOLIT PARAGON Tipo 1  1
 801  487130-04  SACHE DE GRAXA 10g Tipo 1  1
 846  N418470  CONJ. REPAROS 127V Tipo 1  1

 103  N418030 Tipo 1  1

 91  1005761-00 Tipo 1  1


